

Take Home Quiz 3

AP Calculus BC

1. $f(x) = 2x^2 - x$

$$f'(x) = \lim_{h \rightarrow 0} \frac{[2(x+h)^2 - (x+h)] - (2x^2 - x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{2(x^2 + 2xh + h^2) - x - h - 2x^2 + x}{h}$$

$$= \lim_{h \rightarrow 0} \frac{2x^2 + 4xh + 2h^2 - x - h - 2x^2 + x}{h}$$

$$= \lim_{h \rightarrow 0} \frac{4xh + 2h^2 - h}{h}$$

$$= \lim_{h \rightarrow 0} 4x + 2h - 1$$

$$= \boxed{4x - 1} \blacksquare$$

2. $f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$

$$f''(x) = \frac{d}{dx} f'(x)$$

$$= \lim_{h \rightarrow 0} \frac{f'(x+h) - f'(x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\frac{f(x+2h) - f(x+h)}{h} - \frac{f(x+h) - f(x)}{h}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{f(x+2h) - f(x+h) - f(x+h) + f(x)}{h^2}$$

$$= \lim_{h \rightarrow 0} \frac{f(x+2h) - 2f(x+h) + f(x)}{h^2} \blacksquare$$

3. $f(x) = 2x^2 - x$

$$\lim_{h \rightarrow 0} \frac{f(x+2h) - 2f(x+h) + f(x)}{h^2}$$

$$= \lim_{h \rightarrow 0} \frac{[2(x+2h)^2 - (x+2h)] - 2[2(x+h)^2 - (x+h)] + (2x^2 - x)}{h^2}$$

$$2(x+2h)^2 - (x+2h)$$

$$= 2(x^2 + 4xh + 4h^2) - (x+2h)$$

$$= 2x^2 + 8xh + 8h^2 - x - 2h$$

$$2[2(x+h)^2 - (x+h)]$$

$$= 2[2(x^2 + 2xh + h^2) - (x+h)]$$

$$= 2[2x^2 + 4xh + 2h^2 - x - h]$$

$$= 4x^2 + 8xh + 4h^2 - 2x - 2h$$

$$= \lim_{h \rightarrow 0} \frac{(2x^2 + 8xh + 8h^2 - x - 2h) - (4x^2 + 8xh + 4h^2 - 2x - 2h) + (2x^2 - x)}{h^2}$$

$$= \lim_{h \rightarrow 0} \frac{(2x^2 - 4x^2 + 2x^2) + (8xh - 8xh) + (8h^2 - 4h^2) + (-x + 2x - x) + (-2h + 2h)}{h^2}$$

$$= \lim_{h \rightarrow 0} \frac{4h^2}{h^2}$$

$$= \boxed{4} \blacksquare$$

